
Larbi Ben Mhidi University - Oum El Bouaghi- 

Faculty of exact sciences, natural and life science 

     Department of Mathematics and Computer Science                 Academic year: 2023/2024 

     Level: L1 Computer S                           Exam: Analysis 2                              Duration:1h30   

Exercise 1 (4.5=1.5+1.5+1.5 pts) 

 For each question, there is only one correct answer out of the three suggested answers. State it with 

justification. 

 1) For every non-zero natural number 𝑛 we put: 𝑢𝑛 = ∑
1

𝑛+𝑖

𝑛
𝑖=1  ,  the limit of the sequence (𝑢𝑛) is:  

a) + ∞                                               b) ln2                                             c) 0.  

 2) For every non-zero natural number 𝑘, we put: 𝐽𝑘 = ∫
𝑒𝑥

(𝑥+1)𝑘
𝑑𝑥. Using integration by parts, the 

relationship between 𝐽𝑘 and 𝐽𝑘+1 is: 

a) 𝑘𝐽𝑘+1 = 𝐽𝑘 −
𝑒𝑥

(𝑥 + 1)𝑘
       b) 𝐽𝑘+1 = 𝑘𝐽𝑘 −

𝑒𝑥

(𝑥 + 1)𝑘
       c) 𝑘𝐽𝑘+1 = 𝐽𝑘 −

𝑒𝑥

(𝑥 + 1)𝑘+1
. 

 3) The solution of the differential equation (𝑥2 + 1)𝑦′ − 𝑥𝑦 = 0 that satisfies 𝑦(0) = 1 is: 

a) 𝑦 = 2√𝑥2 + 1                      b) 𝑦 = √2𝑥2 + 1                   c) 𝑦 = √𝑥2 + 1.                  

Exercise 2 ( 7.5=3+1.75+2.75 pts) 

 1) Find a limited development of order 2 in a neighborhood of 0 for the functions 

ℎ(𝑥) = √1 + 2𝑥 cos 𝑥      and     𝑓(𝑥) = ln(1 + 𝑥 + 𝑥2). 

 2) Using the previous limited Developments, calculate the following limit: 

lim
𝑥→0

(
√1 + 2𝑥  cos 𝑥 − ln(1 + 𝑥 + 𝑥2) − 1

𝑥2
). 

 3) Let 𝑔 be a function defined on ℝ∗ by 𝑔(𝑥) = 𝑥2ln
1+𝑥+𝑥2

𝑥2
 and let (𝐶𝑔) the graph representing the 

function 𝑔. 

  a)Deduce a limited development in the neighborhood of ∞ for the function 𝑔 (note that 𝑔 (
1

𝑡
) =

1

𝑡2 𝑓(𝑡)). 

  b) Calculate the limit lim
𝑥→∞

(𝑔(𝑥) − 𝑥 −
1

2
). What do you conclude? 

Given: 

√1 + 𝑥 = 1 +
1

2
𝑥 − 

1

8
𝑥2 + 𝑜(𝑥2)   ;   ln(1 + 𝑥) = 𝑥 −

1

2
𝑥2 + 𝑜(𝑥2)   ;   cos 𝑥 = 1 −

1

2
𝑥2 + 𝑜(𝑥2). 

Exercise 3 ( 8=4+2+2 pts) 

 1) Calculate the integral 𝐼 = ∫
4𝑥

(𝑥+1)2(𝑥−1)
𝑑𝑥. 

 2) Solve the deferential equation 𝑦′ +
1

𝑥
𝑦 =

4

(𝑥+1)2(𝑥−1)
. 

 3) Deduce the general solution of the following Bernoulli's differential equation: 

𝑦′ −
1

4𝑥
𝑦 =

−1

(𝑥 + 1)2(𝑥 − 1)
𝑦5 

 

                                                                                                                                            Good luck. 
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 ( ة طنق 1.5+1.5+1.5= 4.5:)التمرين الأول

 .التبرير مع عي ِّنه المقترحة، الثلاثة الأجوبة بين من صحيح فقط واحد جواب سؤال لكل

𝑢𝑛نضع:  𝑛( من أجل كل عدد طبيعي غير معدوم 1  = ∑
1

𝑛+𝑖

𝑛
𝑖=1 نهاية المتتالية ،(𝑢𝑛) :هي 

.ج(                                       ln2ب(                                       ∞+أ(  0 

𝐽𝑘نضع:  𝑘من أجل كل عدد طبيعي غير معدوم ( 2  = ∫
𝑒𝑥

(𝑥+1)𝑘
𝑑𝑥 باستعمال التكامل بالتجزئة فإن العلاقة بين ،𝐽𝑘  و𝐽𝑘+1 :هي 

𝑘𝐽𝑘+1أ(  = 𝐽𝑘 −
𝑒𝑥

(𝑥+1)𝑘
𝐽𝑘+1ب(            = 𝑘𝐽𝑘 −

𝑒𝑥

(𝑥+1)𝑘
.ج(           𝑘𝐽𝑘+1 = 𝐽𝑘 −

𝑒𝑥

(𝑥+1)𝑘+1
 

𝑥2)حلٌ المعادلة التفاضلية ( 3  + 1)𝑦′ − 𝑥𝑦 = 𝑦(0) الذي يحقق 0 =  :هو 1

𝑦أ(  = 2√𝑥2 + 𝑦ب(                  1 = √2𝑥2 + .ج(                    1 𝑦 = √𝑥2 + 1 

 (ة طنق 2.75+1.75+3=7.5 :)التمرين الثاني

ℎ(𝑥)للتوابع:  0بجوار 2أوجد نشرا محدودا من المرتبة  (1  = √1 + 2𝑥 cos 𝑥  و𝑓(𝑥) = ln(1 + 𝑥 + 𝑥2). 

 ( أحسب، باستعمال النشور السابقة، النهاية:2 

. lim
𝑥→0

(
√1 + 2𝑥  cos 𝑥 − ln(1 + 𝑥 + 𝑥2) − 1

𝑥2
) 

𝑔(𝑥)بـ  ∗ℝالمعرف على  𝑔( لتكن الدالة 3  = 𝑥2ln
1+𝑥+𝑥2

𝑥2
 .𝑔للمنحنى البياني الممثل للدالة  (𝐶𝑔)نرمز بـ   

𝑔)لاحظ أن  gللتابع ∞ استنتج نشرا محدودا بجوار  أ(     (
1

𝑡
) =

1

𝑡2
𝑓(𝑡)).. 

limأحسب النهاية  ب(   
𝑥→∞

(𝑔(𝑥) − 𝑥 −
1

2
 ، ماذا تستنتج؟(

 :يعطـى 

. √1 + 𝑥 = 1 +
1

2
𝑥 −  

1

8
𝑥2 + 𝑜(𝑥2)   ;   ln(1 + 𝑥) = 𝑥 −

1

2
𝑥2 + 𝑜(𝑥2)   ;   cos 𝑥 = 1 −

1

2
𝑥2 + 𝑜(𝑥2) 

 (طانق 2 +2+4= 8) :)التمرين الثالث

𝐼 :أحسب التكامل (1  = ∫
4𝑥

(𝑥+1)2(𝑥−1)
𝑑𝑥. 

′𝑦: التفاضلية حل المعادلة (2  +
1

𝑥
𝑦 =

4

(𝑥+1)2(𝑥−1)
. 

′𝑦برنولي التالية: التفاضلية لمعادلة لاستنتج الحل العام ل (3  −
1

4𝑥
𝑦 =

−1

(𝑥+1)2(𝑥−1)
𝑦5. 

 

 .بالتوفيق                                                                                                                                  
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 (نقاط 4.5 :)التمرين الأول

 1 )lim 𝑢𝑛 = ln2 :لأن  

. 𝑢𝑛 = ∑
1

𝑛 + 𝑖

𝑛

𝑖=1

=
1

𝑛
∑

1

1 +
𝑖

𝑛

𝑛

𝑖=1

=
𝑏 − 𝑎

𝑛
∑ 𝑓 (𝑎 +

𝑏 − 𝑎

𝑛
𝑖)

𝑛

𝑖=1

 

𝑎حيث    = 𝑏و  1 = ∑و  2 𝑓(𝑥)𝑛
𝑖=1 =

1

𝑥
 فإن  ةكاملابل للمق 𝑓بما أن  

. lim 𝑢𝑛 = ∫
1

𝑥

2

1

𝑑𝑥 = [ln𝑥]1
2 = ln2 

𝑘𝐽𝑘+1 هي 𝐽𝑘+1و  𝐽𝑘العلاقة بين ( 2  = 𝐽𝑘 −
𝑒𝑥

(𝑥+1)𝑘
 لأن: 

′𝑢بوضع   = 𝑒𝑥 𝑣    و   =
1

(𝑥+1)𝑘
𝑢و منه    = 𝑒𝑥  و    𝑣′ =

−𝑘

(𝑥+1)𝑘+1
 عندئذ فإن: 

. 𝐽𝑘 = 𝑢𝑣 − ∫ 𝑢 𝑣′ 𝑑𝑥 =
𝑒𝑥

(𝑥 + 1)𝑘
+ ∫ 𝑒𝑥

𝑘

(𝑥 + 1)𝑘+1
𝑑𝑥 =

𝑒𝑥

(𝑥 + 1)𝑘
+ 𝑘𝐽𝑘+1 

𝑥2) حلٌ المعادلة التفاضلية( 3  + 1)𝑦′ − 𝑥𝑦 = 𝑦(0) الذي يحقق 0 = 𝑦: هو 1 = √𝑥2 +  لأن: 1

. 𝑦 = √𝑥2 + 1    ⟹  𝑦′ =
𝑥

√𝑥2 + 1
 

 و منه

                 . (𝑥2 + 1)𝑦′ − 𝑥𝑦 = (𝑥2 + 1)
𝑥

√𝑥2 + 1
− 𝑥√𝑥2 + 1 =

(𝑥2 + 1)𝑥 − 𝑥(𝑥2 + 1)

√𝑥2 + 1
= 0 

. 𝑦(0) = √0 + 1 = 1 

 (نقاط.7.5.:)ثانيالتمرين ال

ℎ(𝑥)للتوابع:  0بجوار 3أوجد نشرا محدودا من المرتبة  (1  = √1 + 2𝑥 cos 𝑥  و𝑓(𝑥) = ln(1 + 𝑥 + 𝑥2). 

 لدينا 

  𝑓(𝑥) = ln(1 + 𝑥 + 𝑥2) = (𝑥 + 𝑥2) −
1

2
(𝑥 + 𝑥2)2 

                                         = (𝑥 + 𝑥2) −
1

2
(𝑥)2 
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                                         = 𝑥 +
1

2
𝑥2 + 𝑜(𝑥2) 

ℎ(𝑥) = √1 + 2𝑥 cos 𝑥 = (1 +
1

2
(2𝑥) −

1

8
 (2𝑥)2) (1 −

1

2
𝑥2) 

= (1 + 𝑥 −
1

2
 𝑥2) (1) − (1)

1

2
𝑥

2

                               

ℎ(𝑥) = 1 + 𝑥 − 𝑥2 + 𝑜(𝑥2)                                                           

.ة: النهاي باحس (2  lim
𝑥→0

(
√1+2𝑥 cos 𝑥−ln(1+𝑥+𝑥2)−1

𝑥2
) 

                           lim
𝑥→0

(
√1 + 2𝑥 cos 𝑥 − ln(1 + 𝑥 + 𝑥2) − 1

𝑥2
) = lim

𝑥→0
(

1 + 𝑥 − 𝑥2 − (𝑥 +
1

2
𝑥2) − 1

𝑥2
)  

                                                                                 = lim
𝑥→0

(
−

3

2
𝑥2 + 𝑜(𝑥2)

𝑥2
)   

                                                                        = lim
𝑥→0

(−
3

2
+ 𝑜(1)) 

                                              = −
3

2
.  

𝑔(𝑥)بـ  ∗ℝالمعرف على  𝑔( لتكن الدالة 3  = 𝑥2ln
1+𝑥+𝑥2

𝑥2
 .𝑔للمنحنى البياني الممثل للدالة  (𝐶𝑔)نرمز بـ   

𝑥بوضع  (أ    =
1

𝑡
𝑔 فإن:  (

1

𝑡
) =

1

𝑡2
ln

1+
1

𝑡
+

1

𝑡2

1

𝑡2

=
1

𝑡2
𝑓(𝑡)  

𝑓(𝑡)و بما أن   = 𝑡 +
1

2
𝑡2 + 𝑜(𝑡2) :فإن 

𝑔 (
1

𝑡
) =

1

𝑡2
(𝑡 +

1
2

𝑡2 + 𝑜(𝑡2)) 

                                                                  =
1

𝑡
+

1

2
+ 𝑜(1) =  

1

𝑡
+

1

2
+ 𝜀1(𝑡)    with  lim

𝑡→0
𝜀1(𝑡) = 0 

𝑡بوضع و   =
1

𝑥
 نحصل على: 

                                        . 𝑔(𝑥) = 𝑥 +
1

2
+ 𝑜(1) = 𝑥 +

1

2
+ 𝜀2(𝑥)  with  lim

𝑥→∞
𝜀2(𝑥) = 0 

lim ب النهايةاحس ب(   
𝑥→∞

(𝑔(𝑥) − 𝑥 −
1

2
). 

lim
𝑥→∞

(𝑔(𝑥) − 𝑥 −
1

2
) = lim

𝑥→∞
𝜀(𝑥) = 0. 

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text
(0.25)

CRISTAL
Typewritten Text
(0.25)

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text
(0.5)

CRISTAL
Typewritten Text
(2x0.25)



 

3 
 

𝑦يقبل مستقيم مقارب معادلته  𝑔التمثيل البياني للدالة : جاتنتالاس   = 𝑥 +
1

2
 .∞في جوار  

 (نقاط 08 :)لثالتمرين الثا

𝐼 أحسب التكامل (1  = ∫
4𝑥

(𝑥+1)2(𝑥−1)
𝑑𝑥. 

 نضع 

4𝑥

(𝑥 + 1)2(𝑥 − 1)
=

𝑎

(𝑥 + 1)
+

𝑏

(𝑥 + 1)2
+

𝑐

(𝑥 − 1)
 

 و منه 

                          
4𝑥

(𝑥 + 1)2(𝑥 − 1)
=

 (𝑎 + 𝑐)𝑥2 + (𝑏 + 2𝑐)𝑥 + (−𝑎 − 𝑏 + 𝑐)

(𝑥 + 1)2(𝑥 − 1)
 

 الطرفين نحصل علىبالمطابقة بين  

. {
𝑎 + 𝑐 = 0

𝑏 + 2𝑐 = 4

−𝑎 − 𝑏 + 𝑐 = 0

⟹
𝑎 = −1

𝑏 = 2

𝑐 = 1

 

 و منه  

            𝐼 = ∫
4𝑥

(𝑥 + 1)2(𝑥 − 1)
𝑑𝑥 = ∫ (

−1

(𝑥 + 1)
+

2

(𝑥 + 1)2
+

1

(𝑥 − 1)
) 𝑑𝑥 

              = −ln|𝑥 + 1| − 2
1

𝑥 + 1
+ ln|𝑥 − 1| + C.                                                 

 و منه  

𝐼 = ln |
𝑥 − 1

𝑥 + 1
| −

2

𝑥 + 1
+ C. 

′𝑦  المعادلة التفاضلية:  ( حل2  +
1

𝑥
𝑦 =

4

(𝑥+1)2(𝑥−1)
 

 حساب المعامل التكاملي  

𝑣(𝑥) = 𝑒∫ 𝑎(𝑥)𝑑𝑥 = 𝑒∫
1

𝑥
𝑑𝑥 = 𝑥 

 نضرب طرفي المعادلة في المعامل السابق نحصل على 

𝑥𝑦′ + 𝑦 =
4𝑥

(𝑥 + 1)2(𝑥 − 1)
 

 و منه  

(𝑥𝑦)′ =
4𝑥

(𝑥 + 1)2(𝑥 − 1)
  

 و منه  
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𝑥𝑦 = ∫
4𝑥

(𝑥 + 1)2(𝑥 − 1)
𝑑𝑥  

 أو 

𝑥𝑦 = ln |
𝑥 − 1

𝑥 + 1
| −

2

𝑥 + 1
+ C 

 إذن  

    𝑦 =
1

𝑥
(ln |

𝑥 − 1

𝑥 + 1
| −

2

𝑥 + 1
+ C). 

 برنولي.لمعادلة استنتاج الحل العام  (3 

𝑧نضع   = 𝑦−4  منه𝑧′ = −4𝑦−4𝑦′ و منه 

                     𝑦′ −
1

4𝑥
𝑦 =

−1

(𝑥 + 1)2(𝑥 − 1)
𝑦5  ⟹  −4𝑦−5𝑦′ +

1

𝑥
𝑦−4 =

4𝑥

(𝑥 + 1)2(𝑥 − 1)
 

 و منه 

𝑧′ +
1

𝑥
𝑧 =

4

(𝑥 + 1)2(𝑥 − 1)
 

 و منه  

𝑧 =
1

𝑥
(ln |

𝑥 − 1

𝑥 + 1
| −

2

𝑥 + 1
+ C) 

 أو 

𝑦−4 =
1

𝑥
(ln |

𝑥 − 1

𝑥 + 1
| −

2

𝑥 + 1
+ C)  

 إذن  

𝑦 = ± (
1

𝑥
(ln |

𝑥 − 1

𝑥 + 1
| −

2

𝑥 + 1
+ C))

1

4

.  

 (على مراحل الحل. 02ي السؤال الثاني توزع العلامة ) في حالة حل المعادلة بطريقة أخرى ف: ملاحظة
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